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FENCE ARITHMETIC ARITMETICA USANDO CERCAS

CHAIN REACTIONS REACCION EN CADENA
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“IN and OUT” “AFUERA y ADENTRO”

) ) td Z1_ Toral Yg Ao A {7 _ Tou
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FENCE ARITHMETIC ARITMETICA USANDO CERCAS
@ p. How do you teel?
cCémo se siente”?
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More “DOMINO PUZZLES” Mis “ROMPECABEZAS de DOMINOS”

3) - @ 79) (73) (3 @
314 |7 9 16 6|28 |1y
5 16 |y 6 |5 |/ 5|7 |12
5 +/0=/% 75+ 2 =27 /7t /3 =26

1.8 |9 | 16|15 | 14 N2 ARZAWE]
+/f |+70 |+ G I/ |72 :/;‘? 2|45, +/3
/8 |7\ 78 27 |27 | a7 26|26 |26
70| 7 |17 Jo | 6 | 36 2009 | 29
:za,L;ng \201\6126 :52;)\4)54
30+/6=¥6 50 +/2 =62 70+/3 =83
17 |30 | /¢ 36 |50 |36 27|70 | 24
27 |76 |27 26 (/2 |26 ¢ |°73 |'59
46 |46 |46 62| 62|62 §3 |57 | 57

CHAIN REACTION REACCION EN CADENA
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More SHORTHAND for the same ideas Mas TAQUIGRAFIA para las mismas ideas

45+5 = 9 5x9 = #5
l
45+ 9 = 5 9 x5 =495
9 5.
t «5  x 9 ? =3
25 s 5145 9145
42 + 6 = 7 7x 6 = 42
‘/2_7 ‘ 6)(7:7/2
. _8_
x 6 x [ I

6
72 77 sl Y2 7laz

8x5 = ¥0 4o+ 5 = §
*t; 5x8 = %0 %o-8 =3
8. 2
T x 5 x 8 g )

—75' %o 5| yo 8|4O

4x10 = ¥ 4 /0
I0x4 = ¥0 x |0 x
o
4/0%'[0 = 4 -i/— Lo.
. _ /0
.How do yov feel ? Y0+ 4 = /o 4[-% 10140

cCémo se siente?

9 (r9)/7 (:9)27 (:9)36 (+9) #5(:9)5¥(9) €7 (:9) 72 (‘9) 8|
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0000.0000 -
0000.0000

12292 2QQ0Y
28998 0YC
1000000000

3 4 2 3 9 4 5
X 2 x 3 X 5 x 3 x 2 X 2 x 5
é ’2 /0 - 4 /78 & 25
3 & & & 4 & K 4
5[5 | el24 | 3ll2” | 7[28 | 4fil6 | 5[30 | eli8
4 5 2 3 8 5 3
x 7 X 6 x 8 x 5 x 3 x 4 x 9
29 30 /& 75 24 20 27
7 & 6 vy | | o_0 )
3[21 | 4[28 | 5[25 | 4[24 | 5[20
ng do you {eel?

dCdmo se siente?
v_rl




Here the child mav wish to use two cards to Ience oOIrI TNe COmULIle
tions he needs-for example:

5 5 5
4 X7||1x8]|x9
5 35| |%0|| 45

/6

411 4

x8||x9 ‘I'

132]| 36
4 3

7| (X% gl 8|l 8l 8] 8][ 8
2g| /2 x4 [[x5[|x6 |[x7 [|x8 ||x9
32|\ %0])| #%|| 58] 6¥]||72

6|l 6| 6|l 6| 6 3

xS Ix6{|x 7|{x8]|[x9 | X 3

130 || 36 || Y2 ||7¥%|| ¥ 9

7 7 7 7 7
XS5x6|x7T|{x8||x9
‘ 35|| #2||77]|5¢]| 63

ol 9V ) 91 21 ¢ . > @
x4 |1xD [|x6 ||x7 ||x8 |[x 9 ‘8 |
36 |45 -5-6’ 637.2 5’/ 2_45/ Howdoyougee\?

¢ Cémo se siente ?
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“OUT and IN* “AFUERA y ADENTRO”
and Related Examples y Ejemplos Relacionados

32 32 32

-5 -12 -3

'QC__)_Q_(_:)__Q 0 _6__—._ o 32 1ol Z 20 29
00008/00000; | 7 =

——— o - -2 In Adentro
‘00000 00000 /5 e 3¢ 15
. —_— Out _— ¥ Afuera + 8 + 48 + |7

40 8o J2

26 |4 15

+15 +20 + 27
&/ 40 ¥ 2

40 42 40

-14 - 16 - 16
L6 6 24

39 50 49

+ |1 + 15 + |6
Y 65 65

685 63 7S

-39 -16 -26
26 49 W

39 29 39

00000 00000; + 39 + 69 + 48
00000 e0e0e

90000 OO000 0 00O Cg 8? 0 I =
‘00000 00006\0 O 0O How do you feel?
90000 00000 0 0 00O) 76 ¢Cémo se siente?
©0000 00008 O O OO
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WINDOWS and PANES .

.. Tags . ..

Bars and Shading’

j I T T

__1__‘__1__|__

.1_

+++++ 1+ +-

w do you feel?
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More “DOUBLE-TALK"”

inches

12

There are

(fractionof | foot)

foot

How do you feel?

l-d,



BEANSTICK MULTIPLICATION and DIVISION .

. and Related Examples

_
: 29 b
————————————————————— \ 3| 87 3| 7
| SR 27 1 CRER- CLIRL
| e 60 0 ¢ ol 8 ll
N J 3__\_._1[ 27 ?
o alleg” 27 eI
|
______________ : k 17
| TInUII s, 476 4[es
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I ® o O e e o o o)
—————— Srriiaass 4 7z : b1 3
. 2] 72 8| 72
"I;
Please draw your own sketches. : 25 50
. 61150 3| 150
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° o e e o o o 24 l ,1 l?)
crifiiiin oefww e[ 72 e[
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. 6] 180 6| 192
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|
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How do you feel ?



Please complete the tables.

There are 12 inches in 1 foot

A

18

7

12

In.

There are 60 minutes in 1 hour.

(8

5o

0

24| | 3| | 48

i 8

4s

IS

30| | 2ol | Yo

There are 100 cents in T dollar.

Y

90

70

30

lo

Lo| | Bo

4o

15

25

So

¢ |I00

~———

v

~—~———

t
1N

How do you feel ?



““Check List Addition”
Please use the smallest whole numbers possible in the boxes.

128 64 32 16 8 4 2 I 8l 27 9 3 I
|0 ﬂ o|||0|o|o |40 Ot | 1] ]1140
64 16 4 I 36 6 I 48 7 |
o|lz| I|2|38 ©|s| 2|32 o 5| 2|37
125 25 5 I 64 8 I 8 9 I
o| 3| 2| | |86 o 711 I |57 | 17| &|69
128 64 32 16 8 4 2 I 8l 27 9 3 I
| |lo|loe|leoe|le|l |o|o]l32 [ | o] sz 98
64 16 4 | 36 6 I 49 7 I
(2|1 |o]00 2l ola|7s { | 5| 5189
125 25 5 I 64 8 l 8 9 1
(2|1 ]e |80 o| 72|62 o|s|x|75
128 64 32 16 8 4 2 I 8l 27 9 3 |
o|lil|lele|t |l ||| o|lz|!l|o|lo |63
64 16 4 I % 6 | 4935 7 I
o|3|2|o |58 2|21 |85 2| o 1|99
125 25 5 I 64 8 I 8l 9 I
O|4 |4y 124 Ll 7 &l s Al AT (| &] 7160

How do you feel ?
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BUILDING and USING TABLES
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How do you feel ?



Addition

Subtraction

Sumar Restar
4 3 43 bl —--= 43 43
+2 0 + 7 ! -3 - 4
63 30 | 90 97
43 33 o 43 73
+2 8 + 9 ‘ _1 4 15
7/ YZ ! Z7 38
53 43 L 43 53
+1 3 +4 3 ) a -18 -2 6
6 6 86 Total 73 _ 25 Z7
0 | 21 3| a4l 5 6| 7| 8 9101l |12 13
x5 x5 [x5 x5 x5 x5 x5 x5 x5 x5 x5 |x5!x5 x5
O | 5|70 | 75| 20|25 |30 |35 |40 |45 |50 |55 60|65
5101 15 41 81 16 7 /4 9 /8
x5 x5 x5 x5 | x5 | x5 5[35 |5[70 |5[45 |5[90
25 | 50 |75 20| %0 | o
" /0 Fi W 20
5[25 | 5[50 |5 51
S| 10] 19 7114 28 K | [75 | 5T100
x5 | x5 | x5 x5 x5 [ x5 g /6 /7 22
g5 | 50 |95 35| 70 |/40 5[40 |5[80 |5[55 |5]110
Q00O
OO0 O | W = 4N | DOZ=12 EGGS
0000 D W N DOZ.| EGGS
QOO0
I < | f 4
How &o You ‘?eel? s
J P . 3
dComo se siente Total o /2 | 36
I 6 24 L
?ofi:_g_ %x_q._:_/_én |2 6
| s 9 | 36 = | 4
o (i =/Z. reacsil s | 20 LTz




Addition

Subtraction

Sumas Diferencias
100 116 == == 100 16
+ |6 + 30 i - 10 - 9
/76 /46 5 g0 /07
116 116 o 116 116
+ 4 + 54 ! =18 - 18
/20 /70 i /00 78
2 125 L 116 116
. 18 + 75 o Y - 51
/30 200 Total _£/46_ 26 65
of 1| 2|3 4| 5| 6| 78] 9li0]1t]12]13
x8 | xB |x6 [x6 [ x6 [x6 |x6 [ x6 | x6 [ x6 [ x6 [x6 [x6 | x6
o| 6| /72| 78| 24|30 |36 |¥Y2|4#F|5%|60|66|72|78
4 10| 14 10 | 30 | 40 /0 & /¥ /5
x6 | x6 | x6 x8 | x6|x6 6160 |6[24 |6(84 |6[90
24| 60| 84 60 |r80| 290
20 e 4 2 o
6120 |6 12 |6[i32 |6[138
7 2027 s8] 9|17
x8 |x6 | x6 xB6 | x6 | x6 vd g /2 /6
42\/20|/62 y8| 5% |/o2 624 |6[4a8 |672 |6[96
] =5 |DOI._...L18?>"6'ENTS

How do you feel?

¢Clmo se siente?

@)
| &5
3 | /5
v | /
£ 2
10 | 5o

dollars cents

I | rzo0
|? 50
+ | =5
% /0

350| 307

ln-e,



00 165 — 165 165
+ 65 + 15 /—k\ - 60 _ 7
/65 /80 /05 /58
10
165 165 . 160 160
+300 + 35 - 55 - 65
Y65 200 /05 -3
Total ./_6;5:‘
165 165 100 60
+165 x 2 x 2 - 3
330 J30 200 20
o) | 2 3 4 5 6 7 8 S |10 | |2 |3
T \x7 | x? |x7 |x7? |x0 |xl |x7 |x7 |x7T |x7 |x7 |x/ |x7
O| 7| /7Y 27| 2%| 35|\ 42|47 |\56|63|70| 77| 8% 9/
51107115 10 |20 | 30 |10 5 15 30
x7 | x7 |x7 x7 |x7 | x7 770 |7135 |7lr05|7[270
0 (4]
35| 70 |/05 70 | /50| 2/ ” 4o S T
7163|7170 | 71733 7, 0
6| 20 | 26 4 8| I6 l l | /Y
x7 |x7 |x7 x| xT |x7 &5 9 /4 |6
42| 750|182 28| 56|//2 7135 |7/63 | 7198 | 7(//2
§§ | da.= 24 hr. |LB.=>32¢
4
{' -~ da. | hr. LBS.| COST
S . ]
| o | 324
How do you Leel? Total I
) - 3
dCémo se siente? |2 /2 I 76¢
35 | ¥ = | /6¢
-|8—Of_3__2_= _-ﬁ/_ -i—xi: N8 |2 7 %
6 . 4 3, . 5 | Y Jy| 8¢
— X = —_ =
g 2=~ 24 4 == 24 /7| 28 Vg 4¢




Addition

Subtraction

Sumar Restar
155 I 55 155 L 55
+ |5 + 45 - 9 - 59
/70 200 /Y6 g6
1 55 355 1 S0 150
+ 87 +355 - 80 - 86
242 7¢0 ' 70 G Y
Total __|§5__
155 355 647 626
x 2 x 2 -1 55 -155
370 770 “492 497/
0] I 2 3 4 5 6 7 8 9110 1l 12 {13
x8 [Ix8 [Ix8 IxB |[x8|x8 |x8 [|x8 Ix8 |x8 Ix8 [x8 |x8 |x8
0 Fl1/6 | 25| 2| Yo | ¥F |56 65|72 |86 |88 |%¢ |/04
7110} 17 8|16])32 20 5 25" 50
x8 |x8|x8 x8 |x8|x8 8160 | 8[40 | 8[200 | 8[400
Jé| Bo /76 YAV EAVEL
7 / 27 56
8|56 g2 8|224 8|448
20130} 40 30] 9139
x8|xB8|x8 x 8|x8 | x8 40 g 43 g6
/60| 2¢0| 320 2v0| 721|372 8[320 824 | 8[344 | 8[688
|
| METER 1
Lo DECIMETERS 2 OFF
N M | dm P | 3P
LooJdo. - -
How doyov {’ee\?7 o 30¢ | 154
¢Cmo Se Siente” 30_
m Total |O /00 * |50 75¢
|
= $5.00|$250
Lorao= 73 L xz0= /5 = S
= -= 2 = =i L/ 72¢ | 36 ¢
ix O = / _2_..._‘_:1-“{ R
5§ 2T LA |50 2% i1 | /3 $/4.59$ 7.25




Addition

Subtraction

Sumar Restar
343 343 343 300
+150 +1 59 - 19 - 43
Y93 o2 32y 57
743 743 0 E 743 743
+197 +408 HHHHO -8l -388
P40 /257 sjslslisls 562 358
Joddao
343 343 343 800 32
343 072343
+343 x 3 - 7 + 3
/O0A9 /019 793 /0%
ol | 2|1 3| 4| 5|1 6| 7| 8] 9101 |12]13
X9 Ix9 [ x99 [x9 [x 9x9 x99 [ x99 Ix9[x9 x99 x99 |x9 |x9
0 @ /8|R7|36 |45 |S5Y |67 |72 | &/ |20 |7 Yo8//7
20130140 5125150 10 20 30 40
x9 |x9]x9 x9 |x9|x9 o9l2o0 |9kgo |9R70 | 9760
/80 |270]|360 Y5 1225|452
-] 6 2 7
9172 | 954 |9l8l [9]63
9169]|60 12124148
«9|x9]x9 x9|x9 [x9 /8 26 39 ¥7
8/62/]5v%0 /08 276|932 of1e2 [9[234 | 9[351 | 9[423
I/C\)
I
z OFF =10 ()
fﬁ"“‘r‘*‘r"i"‘?‘f'gi_.?‘—l-"l":“l—ﬂ
e e 3 _
6 I{__I}“:r"i—-%_—“i":'_lr_lr"‘: P 4P DOLLARS | dimes
LB SEm, e i 4 Gy
Lbd L ! o 80¢| 60 ¢ 2 | 2o
S i SO SR 1o s i I
Total $12.00| $%.00 5 | 5
| | g0t | 30¢ I | 7
—of80 =20 —x60 =230
ST 7T BT T 4180 |20
A - I
6 8910 | g 3 H 2| 800 $6.00




"HOW MANY?” “.CUANTOS?"

100 145 145

- 45 - 50 - 59
55 75 6
,150 194 1154

- 725 - 308 -1,092
H25 J46 62

f' /] 5« L’L?ﬁ I_/l_.§_4: l.’.‘.?ﬂ

Total Fefsie + 1154 x 2 : 2
230 2308 377

378 378 378

- 108 - 287 - 189
26 7/ /89

K375 2578 2378 2p(8

Total —|,349 —|/289 - |,4|9

1029 1089 Y

2378 2378 2378

+2378 x 2 = 2
4756 4,756 L 139

Please use the smallest whole numbers.

< 9,3 | 16, 4

/ /15 2 71 2|23 3|0 49
25 36,6, | 49,7

3 /| 89 /| 517]67 2| 3 125
64 | 81 9 | 100,10

/ #1100 2| 4| 2|200 3| 7] 61376

Favor de usar los nimeros mas pequefios.

How do you feel?
¢Cémo se siente?

Vi-e,



Vil-€,

166 166 ! 166 166
+108 + 783 sl ~ 159 - 77
it T T
1527‘7’ 249 jﬁj 1,007 5039
1083 1,166 66 266 7166
+ 83 + 1,999 =L - 729 1598
766 F/65 (437 5568
| 66 33; d .
| 66 | 166 1166
|66 |97 . / > X/ >
+ |60 + 56 '5_93 733%
66 4 J]OL 7/
13113 1131131131 1311311311313 113113 13] 13
x2 [ x3 x4 [x5|xB |x7[|x8|x9 |xI0O K20 | 30|x40|x50|x60
26| 39|52 e5| 78| 97 (/09| /¢7 |/30|R60|390]|520|650|780
13 ) 3 / 4
R 7 R 7R gRrI
X 49 X 25
a1~ 6145 | 7150 [ 8]60 9|75
122 356_5_'_ =
520 7 3 5
/0R g R 7 R 4R
€37 FES 665 | 7(67 | 875 | 9[50
13 13
3 / / &
% 67 %58 SR g R g R e
7 == 6[33 | 757 | 8[65 |9[85
|
NZZE 1 Hr..I150miles
N |total Hrs. miles
4¢ | 4@ ¢ - | 75
10¢|257¢ + | 30
| 36¢| 90¢ 5 |65
50 —
- 2 = 60¢ | § 150
_ | 2
0 50=_J_ R -—f;.{%ﬂ 50¢|$/.25




On Your Own (1)

37 23
37 '
37 x |2 x 46 ™
37 100
F 37 - 37 !
1480 3@ 4% /058 |
1 [ T Thwl
Please circle the letter after the line
you think will be the best “estimate.” a -3d = d ®
! - 3 = /
12 x 12 |= 14t 15 x 15 |=225 FU
IO x 10 a.=100 IO x 10 p =100 b + d = 3¢®
10 x 15 (B) = 159 10 x 20 (§)= 200 z’*;’=-§
| . =200 =400
0x20 c¢ 20 x 20 F S - o 3ol
@ £ - L -3 L
0 6 .éor/z__
2x 5= /0
@
0x S=__ 50 © 2|27 2135 3719
5x 20= jo00 ® )
6 (7
|0 x 20 = 200 ® @
|10 x 50 = 500 @ @@ 320 X9 9
20x 50= 000 ®
100 % 50 % 25 % 10% 5%
10 x500= sp00 @ 100 50 @ 25 0 G & 6
50 25 /2.5 63 5 2.5
1 doz. = 12 eggs
doz.| eggs doz.| eggs
| e |
2] 4 | 28 e 3] 3 | 37
+ | 23 e - 1,10 | 22 e
| === = — | === =
3 /5 - / | 61; BRAAR: How do you feel?
@

I-€a



On Your Own (1)

43_ Y5 ¥ — T
2| ........ s
185 >1eld 23[1035 Woim v 1
185 -
. 185 3 x$1.50=¢ 450 /4[ ....... ¢ | | l ]
555 wial [ 1 [ [ 1 T |
l/ =
Please circle the letter after the line ot L1111 SENRRREES
you think will be the best “estimate.”
c +2d = b
I+ Z -
96 + 23 [=17 234 - 18 | =13 ¢ 8 2
90 - 30 a=3 240 :20 @)= \Z 3e r 3e = 3d
00 20 B:=5 300 =15 e =20 £ % ¥
|00 = 25 - 200 :20 F =10
©-4 " a -3d = &4
/- 3= &
8x 10=__ 80 8 8
80 x 10=_ 800 > 5| 7 2l 7 ’ig‘ﬂ
8 x 100 = 800
(33 (e (9
8 x 50 = 400
80 x 50 = 4000 e 42 @
5 x800 = 4000
100 % 50% 150 % 25 % 200 %
50 x800 = #2000
" $ 400 |$ 200 |$ 600 |$ s00 |$ foo
80 x500 = 4§000 $§ 300 |$ /50 |$ 450 |$ 75 |$ 400
$ 50 |$ 25 |$ 75 |$ 122.50|% sp00
1 week = 7 days
wk. | da. wk. | da.
| | 7z) 1) |
I 6 I_,@_dc A1 0O 2L da
+ 2;‘ q i =/__8=d9 | [ 5 | /2 _dO_
3 | ' T
or o o | —3{ _dg / 2 | 4 90_ How do you feel?

[-€;



On Your Own (I11)

|1 75 37 37 10| | a ]
+ 392 'X S x |2 X 63 l/éf b J —|
567 273 74 30% | T
750 48 21 e s — =
- 195 x 6 444 YA sLET T Jeal— |
555 288 ' Y [e 1 ) i I
Please circle the letter after the line
you think will be the best “estimate.”
b - e = 2d
18 x 21 |=318 25 x 25 | =25 Yo" Yo © s
20 x 23 a=460 20 x 30 (p)=LoO° 2d + e = b
20 x 20 (B)s 400 20 x 25 € =500 U4s" Ko~ Ny
15 x 20 ¢ = 399 320 x 30 ¢ =900
e + e = 24
3 'he s
O o
'rlE) “"10" (z,
(25 (W\ =~ (o) (&%
313 |5 24
5
e 3ls|s| (21717 |2/3/2]2
S 3 5 2,1z, 2% 33 22
100 % 2 % 5% 102 % 105 %
4 !* $ |.OO|s .02 [$3 .05 |$ \.e2!$ |.085
$ 100 $ 2. |$ 5. % 102.(% o
T2 $ 50 s |. |$ 2.5 s si. |3 s2.5
I pound (Ib.) = 16 ounces (0z.)
ib. | oz. Ib. \ 0zZ.
gs : 3\ [ . R
il__, , KB oz 215 %3
- 13 q oz x 4 | x 4
] — l = === == = =
How do you feel? I | ;- I_‘q_ oz o 83 ]zfﬁo :L__é



On Your Own (1V)

22428 L bl W
5468 s 4|£28 18,808 W |
468 l —
12468 x4 3% ite wle T T T ]
9872 %92 3 Wl T T T TTTT T[]
Please circle the letter after the line
you think will be the best “estimate.”
a -3 = C
329 - 17 |= (2.7 [275 - 28 |9 82 | -3 = Yy
300+ 15 @yrze 30025 p =it 3d +2d = b
300 :20 B %5 240 + 30 £ = 8 Ho*Yo= ¥a
350 = 15 c=29. 250 + 25 -
* ©-~te 7d +3d = _@
7/ + 3 =
4x 5= 2o O
3 1 3 Z § s
4 x 50 = Zeo 3| 2 2 3| 7 S| 8} 2
40 x 50 = 2poo |
2l e
4x 25 = loo o a lo) 2s
40x 25 = \poo a @ 50
4 x250 = looo
|00 % 50 % 125 % 1O % %
40 x500 = =945 co0 = 190 %
— W= $500 |[$ 250 |$¢ 6&2S|s So |§ 7TSe
40 x250 = |0, ooco $ 10 $ S $ 250 ( s 1S
$400 $ 200 |§ Soo|s o |g Geoo
1 yard = 3 feet
1 foot = 12 inches
| ftin. i
yd In | yd., ft.' ' in. |
| 'I'O:_B_frl | ||7:__‘§irl
+ Lyt g9n x 2 |, x 2
1‘1':[ I —___ e = e .T"|====
w31 09 N7in How do you feel? ov & 3, 2, _én



On Your Own

i
35T 112

+ 246 és x 13
O3 182 33
%% X 8 11

- 468 | 45¢ I%S(

Please circle the letter after the line
you think will be the best “estimate.”

b+ d = 44
I =
35 x 75 FZLLS 27 x 54 |= kLSS I+ /3 “’3
30 x 80 @Arzhee _25 x 55 0= (375 4e - d = J
40 x 80 B 32_90 25 x 50 E.;(ZSO 4'/6"}/3 B }"5
30 x 70 =200 30 x 50@.(’500 b . 3 -
|+ = X
Equal Chain Reactions ‘3 3
52 99 125
L 9 )3% (2s

1 2 2la

o=
WA

X 9|%le

31114 |_3Lcl_¢_ 5|O|0 {2
+ 1,0,2 1 |2¢ -2, ,3 1 28 ¢
—— = === e 2 =
o 210 41 _S_|_¢_ 20,2 __Ql¢- How do you feel?



On Your Own (VI)

14
148
T27 : 32 185 L w .
X 9 x 24 l/l e
148 B R |
S 43 148 T40 —
+ 148 310 plal [ L
g88 Y bo Wobdd [ [ [ [ [T [ [ |
) gt . ol TTILIT LTI
Please circle the letter after the line
you think will be the best “estimate.”
3h - 3q = 3%
~ ~ 2 Y2 W T Y
- = . - -
575: 35 |2 (6.4 [2511: 55 | =45 (g q',rmf_{&
50040 a=tz.5 3000 :580 D =¢go 2w - 7d = 3¢
600:40 (B)=(s 2000:50 €) = &e "% " Y,
600 - 30 C.=20 2000 - 60 F -.:.33—5 TH L 5 = C!
(}’L+ 15 = |
(0

Chain Reactions . . . and Shortcuts

How do you feel?

CRRGEO

>



On Your Own (Vi)

1% 4 ngg 2L 3 |
|
| 148,296 TS5 Z4 ] ]
- 392 +148,296 2072 oL
bo¥ 444,388 222 00 AN | = ]
btel [ [ [ [ |
Please circle the letter after the line you think will be the
best “estimate”. B - ¢ = @&
M. - -
64 x 66 [4224 349 x 25| $T728 I o= Va
60 x 60 A_.'s'koo 350 x 30 b lo,s00 a -2d = b
70 x 70 _s4qoe 300x 20 £ .00 Vo~ Ya = ¥y
o
70 x 60 Qq?_oc 400x 20 (A 8,000 bx o= d
Yy %2 = Ty
¢Sor @ g300er 30 x3 x5 |20|x %
32 - 12 36 25
=8 +9 )
215 (2(9
T 36 ¢ x3 x3 |5 |x3
3% U R 2 }— 4 10—+ 9
300 i |
So or &
10
30 x5 <8 |24/x 2
T T4 27 15 2| 16
23525 2 T E3
1 gross = 12 doz.
} dozen = 12 eggs
gr | dozjeggs' gldle |
11709 j237¢ 7100 1h28e
fes L2 L2 LN 0 F 353
4 15 11 ! .  Emas
o 5 .3 11 | ZQ'Z_e_ How do you feel? 2( 7 ‘i | -:'_)7_"_9_



On Your Own (VIII)

146 i g L
35[8110 Ll TE ] |
GIST —426 2o WL T T [ [ T T
Please circle the letter after the line you think will be the l{sfgj IENRERENENNEER
best “estimate’.
Va x b = d
4500 - 6626818 [8513 - 125] = £B.1° Axh- Ty
4200 =70 A =60 8500 =100 p = %5 x ¢ = 3e
4200 : 60@=70 9000 - 100 ¢ = 1© T2 Uy =Y,
4800 =60 ¢. 739 8000 - 100 () =80 |
2 x5d = _Se
i 5 =
A*7% ™ Y
|18 A L Xq 27
: : 420
73 '.-q q.‘ @ or lg 6"’ O"TO
o DG
x3
8\ 2[3[3[3]3 2[2]3[5 [T
' o3 3 O 3 L ovr = 3 T 5 2
100 % 10 Y% 5 % [O0% 205%
<9 |x | $ 10.00|s !.00 .50 [s 1l.oo[$20.50
| =3 |27 q $ 500fs .50 .25 |3 5.50$10.25
b $ 1500([s1-50 TS |$16.50|$30.75
1 hour = 60 minutes 1 minute = 60 seconds
h.|m.|s. h.’m. S.
b N <o K
I |30|45 S. Y O| 0 S.
+ 1,30,15 s, - 9 48 ¢ S,
) ¥ = ¥ ¥ ' =
;._L|_19_ S. 1501“,‘ b How do you feel?
o 2. 6O GO

VIII‘82



O A How do you feel?
(Como se siente?
e I . I
A+20¢ 1$.00 < A $ .90
. | 1
' 1
A-37¢ l$ 143 $5.00-A $ 7.20
[ 1
1 T
A+$1.25 $3.05 T A I$ 60
+ o —
2A 1353.60 A=$L’»’J 25% X A '|$ L
| ] | |
+ g X g —2C8> X '37 30% 20 = 690
/5 /6 /2 e
50X 40 = 2000
4 15 7 8 ’
X 6 - 7 X 4 S =
2 4 g 29 /3 (3x9)-(4x6)= 5
24+3= ¢ 7+9:= /6 (5x 8)-(7x4)= /7
. | | 3/ 2 | L
28—-7 = /7/ 13-5= & :2-+-5= /{/ §—§= /3
A D
| B | C E \ i
r T ,j——r*\—\—r!‘rl'
AR ‘—r—rr—l W ] \ | |
LB:‘:' il 2 3 4 S
2 1 12 inches (in) = 1 foot (ft)
| . .
'Eft. : € in. B | "'_',f in. F I;«.?_/,fin
1 1 1
! — ! P
Lt '3 in c | /7 in. A 2 7 in.
= + 1
| 5 [ _
%ft. ‘ g in E Jl/,{:, in. D : 4 in.




) [
2S /70 S-18 1 J7
__miles : m.ph.
\ S-30mph | 22 S-13 | 42
. m.ph. . mph.
6 X (S5-5) : 300 S-35 } 20
| miles } miles
%S . 827 50% X S '\ 27/
2 . miles | mph
How do you feel?
,Como se siente? 30 | 4
. ’_I T T T T7T + T IYI+ lllllllﬂ_:_{H}z
| 7 5 7
+ 8 X9 6)42 60+ 9 =68
A5 75 34 34 34
X 2 X 3 2168
9 g 23 7 68 10X
X 4 6)48 +29 X 7
J6é 52 47 (7x7)-(5x6)= /9
6 50 7 45 (6X6)-(3x9)= 7
5)30 -32 X 5 -7 —
/ 25
¥ J IOXx 850 =§, 500 20X 50 = 4000
R A I 3 _a
2 6 4 " 12 4 12
. [
|
T=(1hr+20 min) 325 pm
]
|
T+I|§hrs. | 6 . /{p.m
[ .
25% X 60 min. E /5 min
|
T+ 12 hrs. L 445 am
]




N

Aluminum
Strips

8 Aluminum Strips i$2 40

—_—

2 lz quarts Paint

7

> 80 mi. to MALTA » c b Py
A T —_ | U
{ 45mi. 1o PARIS |_miles
1 T 1
{ 75mi. to CANTON < Y 728
; miles
% X P | 30
I miles
——C=75mi =
N A 50% X M v gl
EP 45m|.' M =80 mi. _ J e
[ / l : | -
C at 50mph. | /2 2M /60 2x (P+M) 1 £50
| hrs. | miles . miles
How do you feel?
. . 10 4
(Como se siente? —_——
N r—i—_ 177
9 el s S
8 9 7 (8Bx7)—(5%x9)= // iﬂ
+ 6 X 8 8)56 7 Iy
23 72 $210-3=¢_ 70 e
Ill
7 ] /00 '
00 7 9 $2.10x10=$_<
— 65 +17 7)63
3 5/ 100X 500 = S0, 00O T
f
- =+~
6 .3 .2 1.2 x4
4 "2 9 3 4 "2 IR
" - gty |
|_|_..3_ 2' -j__ |_g i [f'_, Tt_T
2 "2 4 "4 373 WECETS
|Sale Price 'Sale Price
.......... IO Tiles H;':-‘QC’ 20 Aluminum Strips‘[$t__ g
] ]

Paint
{quart.....-

4 quarts Paint

i$ 3. 60

IO0 Tiles

—+
|
1
!

il

|
25% 0or &

|
30 Tiles  1$9.40

;i

|
3quarts Paint 1§ £ 7
|

2

m-f,



| Block T IBIock V

]

Block S Block U EIOck W
3 i

Block X ]
T

. L B N LI s
i 2 3 4 5 6 T B 9 4o U 12 13 14 15

centimeters (cm)

I

7
16 17 l8§

How do you feel?

{Cbémo se siente?

] T T
| |
d :L 4 cm . 1 5.5 cm S+U /0.5 cm
{ i | ; :
10 4 =T
/—’%/—/H Pl 14
s' | —!}s < ol 2 4l 23 57 69
o —f-;—i 12 4 23 57 69
o r—T—Jlr—J 12 4| 23 57 69
428, +12 +4] +23 +57 +69
o L_Lél_"ﬂ HE 12Y ?2 228 276
=T~ =777
I N E ~_ 12181 4xB00=3200 60x50=3000
L2 6] 3! & 14 31 61 4!
o ) (8 x8)-( 7 x6)=10
4 P ¥ || _ 5
3~ 6 8 ~ 32 4 T 4
5 -0 . -
8 v "3 T8 "8
s | . 5 2 _ 3 [/
6 3 6 6 6 =
S-55 -
! miles
(Ll |
> (3XS) L 7Y mbph
] I
3 I : % S) + (L x ' ”
17 %S L 05 miles (2XxS)+(5xS) | /50 iles
1 : ' _ |
B |3 X 45 miles | 6 Ormiles S-18 | %Z 0 on




How many minutes in 2 hours? E
(Cuantos minutos hay en 12 horas? : /2.0 min.
2 hours after time shown. |
o 3 2 horas después de la hora indicada. {}2 45 p.m.
|
T + 24 hrs. 4215 om
L How many minutes since mid-night? ;
cCuantos minutos han pasado desde la medianoche? | C’q 5 RED:
o i
Time Shown 045 T + 1l hrs. 9 :45pm
| i 1
10 .
T TUTal (7x)=(] x6) = |
IR B0
| | | 3
0 N ELAALN el i B _ ]
] mcE (8% 8)-(9x7) =
L
______ t—_ 3
adp= === rgjf;, 60x90= 5400 200x50= 10,000
______ = e
|4 x IT7 =238 30X800= 24,000 100 X 100+ /0,000
r—T—/_7
LBk 5 | 4 5
T ale zlg] L= LT 9 -, 1 .52
(142 318) 1375 0 e37 423 lgcs
VoY
L SRS N
/
ot s 3772 T8 TTe "6 A
| |
e | + 3 2 +3 _ Y _ / *
= = =]z
How do you feel? 2 4 m Y n Y
.Cdémo se siente?
Y o0 ®
50 (1¢) 1_i15 W 5 = 150 = 1500 / 25 (0¢) |25 BT
! [ = ]J0 = 100 ﬁ:
o0 7 @) | Lz -i0 | x| T
i 18 = 18 = 180 |
35 :i \ 5 = 5 = 50 |_3>< ! ] 30
' o7 =7 =7 "
789{7-‘3? L rf4-5><;-“5




Jackets Shirts Sweaters Ties
g@l@ —10% of f Chaquetas Faldas Suéteres Corbatas
prices shown 4 6.00 $8.00 $ 5.50 %140
On Your Own Usted Solo
Jackets
Chaquetas 2 | O O | | J
s o o oo 1
Faldas
Sweaters
Suéteres O L O 5 0 | | 5 |
Ties
2 |
Corbatas O | O 4 =
= —— — —] prm— — — prm—— — g — == = :J
Total Sale Price [/ 2% |4 740 |§/6 .50 (§7 50 |85.F0 /7 50 |§22.50 |$20.90
7737 (6 xXC)=(F x7)=1
= x 573 7x9)-(7 x8)=7
20{: Lo /12,61 | | g 2 3
<t—————l-—J !_S’T‘?T_ > 5 7@ 70 77
3¢ P
—d 98] N
."I_~""+/‘{;é; = = .= - = e = /5
0 "5 e I
T30 rST30 =
N I - 12131 | 3 I/ & 5 ?
HEIEIGGE L"L’f_|§,;§1r§1 G-5 e T T2
1 jola | | | 1
BRI 71z _
FzA 2 R e - -
e A { 1.7mi. Mill Creek ¢
| ) 2.8 mi. Moss Valley )
2 %A | 3. i (3mi. Ridge Rd. ¢
]
A+ B : - i
A=1.7mi
| 4. 2.
B+A+A Lé i, [
> % B :J.é\i‘i—c=3mi. - B=2.8m'|.——j
|
T l
2 (A+B) | 9. fi B+C :f'ﬁﬂ. C-A T
|




Change to
“simplest form” or

Round off to the

Change to “equivalent
fractions’” with “/least

“lowest terms’’ nearest 10 common denominator’’
5.2 74 7 — 20 2.3 8 9
IO 4 2 34 —> Jo 3 4 2 12
$-4-4 2 — o tt B4

Jéo
5.4 2 38— J¢ 11 2.3
I00” 50 25 73 —> 70 3 2 6 6
9¢ —> /s 00

Estimate each answer by “rounding off each factor to the nearest 10.”
Then compare this “estimate” with the actual product.

estimate; /¢x 20 = 200 estimate: 20 x 20 = ¥do
|7 8
x13 __ Ay larger x |18 Yoo
I/ Z 00 smaler /Y4 - T2
17 I
227 A/ ditference 324 76
$
@,@:® pennies lq{; dimes
/
2. 0 41 5w 3.8 | 384 ©
i—_|43.3 43 ¢ —|.5.9 /_j#,‘?o
3 3 7 27 ¢ 2 2 2 2225

AF

/ ‘\\
-v

g
—
X

no|—
Ww|—

1_1. %
3 6 6
1l_Ll. L
2 3 6

How do you feel ?




Change to

“equivalent fractions”
with the ““least
common denominator”’

“Round off to
the nearest 100"

Change to a “common
fraction” in “simplest

form’’ or “lowest terms’’

> oo

/

75 50% = —=
3 — _729 N
909 —» 90° T
/

990 —» /4990 0% = —72
_ 7

1346 — 4799 (5% =—=

Estimate answers by “rounding off” the “divisor” to the nearest 10 and the ""dividend”
to the nearest 100. Then compare this "“estimate” with the actual result.

estimate; Y0e —20=- 20 estimate: /2906 —-%0=- F0
/8 5 i §J ,
22| 396 220 arger 3711184 .32,
ﬂ - /¥ smaller /_//.__. — J0
/76 = 74 —
176 2 difference 74 -
yd. , ft. | in. feet m  dm cm centimeters
3 2 '/8 T T
al ! O ! © __{_‘2_:?__” 3 ! 4 ! © _:?."_/_6__Cm
~1,1.,9 4% # +12,. 7.7 277 cm
21/1? 7—;’(3_” 6|2|3 6230"\
I 1. /f
|L=i |_|_L_ K =
2 6 2 3 - 6
Iz-1=%
2 TR How do
you feel ?



Change to a “mixed
number” in “simplest
form” or “lowest terms”’

Change to "“equivalent
fractions with other
denominators”’

Change to a
decimal fraction

4 & /0 25
ﬁ-— —2—= 3 L:—:— O/ . =y
6 '26 2 3 9 15 25 /°'IOO' g
2 L /0 25 6
22 9% - D -5 s S 8
#0592 718735 50" -8
2 L
34 4.4y 4. & ¥ 2
8 47 5 10 100 25 100" 5
Estimate each answer by “rounding off each factor to the nearest 10”.
Then compare this “estimate’”” with the actual product.
estimate: 97 x 50 = #0d0 estimate: &0 x 80 - 6,400
76 70 ¥ \arger 83 oYYy
X 54 X 78
04 4299 s §cy  —6%90
3—3—?—2-——- 79 4 ditterence =2 ¥/ 7
4/ 0 6974
$
@@;@ nickels ! =@ dollars
l L 4 J 3 __?_:él-___ 241 44 7 S _’_2_'_"_/_?_
X 2 X 2 X 3 X 3
7. 4./ /9 £ () 7.4 /| 574/
r=—=--= Al I""""I r-=-=" ﬂl r==-—=--= 3 r---==-- —‘l r "8"'"“ 'r """ - [ "1' r“‘__'}
-SRI S U A B - NN R AR S O T A S O A 2 &
V10T 10 T o 1100 11001 7 1100 | 11001 " /00 i/00!
L2 i+l 5 =iy 1B =107 =il gzl +i07 l=1 4
| O | | S J | I J L - --J | I | [ 2 be oo | Lemmme e o [ BT
T ‘. | _— P R How do
LR T haR g BATLR T T you feel ?




Change to “equivalent
mixed numbers’’ with
the ‘‘least common

denominator”’

Show other
members of the
same family

Change to a
decimal fraction

L Ll.32,,5 2 o8 5,20 _ 125,
3'_’|2"‘3|o’|'0 23 ‘2|2"23O |25°/O-Ioo' /25_
3,01 _ 314 3 .36 569 _ 45
625 Vs 2% 35 31073100 P%po- Y5
2,32 . \4,36 5.,20.,35 4. B
15377137377 IRy 5°10° 9

Estimate answers by rounding off “divisor” to nearest 10 and "dividend”
to nearest 100. Then compare this "“estimate’”” with the actual result.
estimate: 3260 40 = estimate: 3500+50=__70
g2
39[3198 - FZ_arger 53[355I .70
312 - g9 smaler 378 — 67
37/
A difference 37/ J
How do you feel ?
M, dm  cm meters
2 & 3,5 L35
-5 - 5 -5
¥0 @) R, 7 27 M
‘ Fx iz L
e o
Z_o» % L < I > 6
3 3 2 /e




Change to
“simplest form” or

Change to a

Change to a y o
common fraction

“decimal fraction”

“lowest terms”’ in “lowest terms”’
o) - J0 _ e 2
%: g—qiz 6-“’:; 50%+= —Ioo-,fo 750/0—,90——,?
1l _ 75 _ = L8 N
27 9 _ oy 7z = g T E 16 235 = 25
6 @ "7a
4% = 224 = /.74 |50% =£Z2= /%
54 _ 27 _ A |8 2 g /
y =5 =/3z o5 = £ =% 008 =/7250= 72+
£ ¢35 9
37-42 - 63 7% =%, = -07 |45 =/ise = /25
. all factors greater than 1
CCIC NG
o) @s) ) () (v) feog
g |5 |7 5|5 |§5 JF |7 |5 |3 2ia ISy
78 225 686 1155
N\ D& @0 GG
2 |3 |3 2|3 |55 27| 717 7|5
3 7 9 | .2 i X A _ 7 N | _
+ 4 +.7 -5 -4 2X7FT5 b 2 T
‘7 /.4 Y o 22w ! 2 _#a
3% 375 v X3 T
5 6.3 63 07
X .9 X 2 Xx.2 x.3
. = Xy How do
25 /2.6 126 0 you feel ?



Change to

Change to Change to “equivalent fractions”
a ‘common fraction” “per cent” with the “least
in “lowest terms” common denominator”
/113 ;13 _ 75 _ . | 3 5  z/
3% = 55 = /e % = Too =% <5 =37 37
44 _ F6 _ 3 _ 169 _ /40 3 2 __9 6
g =3 =78 15 = 5o =% w3 gy aw
e - MRS : 7 . 48 (g9, 3 4 _ 27 28
=T = /3 25 -~ soo = 6%% 7 '"9 T 6363
!
Use only pairs of factors 2,35,7,11,13,17,19,23,29,31,37,41 ,43,47,53,59,
“From the List” 61,67,71,73,79,83,89,97,101,103,107,109,113
/13 5? &3 ?7 (07 67 67 /09
X 2 x_ o X_ J x 3 X_ 3 X S X 7 %7
226 177 249 29l 321 335 427 763
67 37 a9 79 37 83 53 /03
Xx_ 3 X 7 X 7/ X 5 x 73 X 7 R X /71
201 259 319 395 403 58] 583 ,I33
Round off Change to
Change to a to the nearest “equivalent fractions’” with
decimal fraction whole number “convenient denominators’’
3 _926 _ . -_6 _ 26
28 =270 =X.6 135 (3 £ = %5
85 — Y d /6 36
756 =7/00 = 785 7.09 =% = 5
—e /36
173% = 55 = /73 .,\‘ How do
3,7% —_— 3/8 you feel ?

vi-f,



vii

\ ]

il

11!

vitl
e, i
Vi
WV
i :
i TR LA
\ 00" N\
H/" 2,
2 Vi
v
m \ (15
T JNT




CDmath

A ROBERT W. WIRTZ
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